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QUESTION 1

What are two requirements for a VXLAN tunnel endpoint (VTEP)? (Choose two.) 

A. TCP session tracking 

B. MAC address learning 

C. IGMP filtering 

D. IP address learning of interested VTEPs 

Correct Answer: BD 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, what must you change to make the topology a supported Virtual Chassis Fabric design? 

A. Change the Routing Engine to a line card. 

B. Remove one leaf node. 

C. Add a second spine node. 

D. Change one of the line cards to a VCP master instance. 
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Correct Answer: C 

 

QUESTION 3

You are designing an IP fabric using IBGP as your underlay. 

In this scenario, which statement is correct? 

A. Confederations are not allowed in an IBGP IP traffic. 

B. Route reflectors should be implemented on your spine devices. 

C. IBGP ensures that traffic will be load balanced by default. 

D. You must ensure that you have a full mesh with all devices. 

Correct Answer: B 

 

QUESTION 4

You are creating a design proposal and deciding whether to use 10 GbE copper or 10GbE fiber cabling to connect your
ToR switches to the servers. 

Which statement is correct regarding this scenario? 

A. Fiber has a lower power consumption on a per-port basis. 

B. Copper cabling requires special transceivers for different speeds. 

C. Fiber is much cheaper to purchase but has a higher long-term cost. 

D. Copper will allow you to reach the greatest distance between devices. 

Correct Answer: A 

 

QUESTION 5

You need a security management solution for your data center that will support centralized network visibility and control,
J-Flow collection from existing perimeter devices, and SIEM. In this scenario, which two products should you choose for
your data center design? (Choose two.) 

A. vSRX 

B. Security Director 

C. JSA 

D. Sky ATP 

Correct Answer: AC 
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